VEHICLE AND EQUIPMENT SPARE PARTS

Tel
Gsm
E-mail :

5301 Sokak No:32/A Camdibi-izmir/TURKIYE
: 0232 282 22 47 + Fax: 0 232 282 22 48
: 0544 602 46 99

export@betto.com.tr * impex@betto.com.tr
alper@betto.com.tr

ARAC VE EKIPMAN YEDEK PARCALARI

:hﬂITIIE | hamledijital.com

WWW.betto.com.tr

automechanika
SHANGHAI



BETTO arac ve ekipman yedek parcalarinin tretiminde uzmanlasmis bir Tirk sirketidir.

Denizcilik ve Otomotiv endlstrisinin damarilarindan gelen firmamiz Genc ve dinamik yapisiyla is yapmayi
kolaylastiriyor.

Mdisteri memnuniyetini elde etmek icin, tiketici dostu ve bilgili yedek parca uzmanlarimiz ihtiyaciniz olan
populer arac ve ekipman yedek parcalarini sizler icin tespit ediyoriar...

Uzun sireli hammadde tedarikci iliskilerimiz sayesinde ,en rekabetci fiyatlara ek olarak ,piyasadaki en iyi
hizmeti ve en dstin kaliteli yedek parcalar sizler icin Gretiyoruz.

Is ortaklarimizi alaninda uzman ve yetkin firmalardan ézenle segiyoruz.

Mdisterilerimiz icin 6zenle Uretilen Urdnlerimizin, toptan ve perakende olarak satisini sagliyoruz. Kurumsal
mudsterilerimiz icin esnek fiyatlar ve bireysel 6deme kosullari sunuyoruz.

Taleplerinizi karsilamak, arac ve ekipmanlarinizi kisa sdrede calisir durumda tutmak icin her zaman en iyi
cozuimu bulacagiz. Her seyden énce, glivenilir bir ortak olarak musterilerimizie uzun sdreli bir iliski gelistirmek
misyonumuzdur.

Sizden haber Almak icin sabirsizlaniyoruz.

VEHICLE AND EQUIPMENT SPARE PARTS

Betto is a Turkish company specializing in the production of vehicle and equipment spare parts.

Our company , which has been operating in the maritime and automotive industry, makes it easy to do business
with its young and dynamic structure.

To achieve customer satisfaction, Our consumer friendly and knowledgeable spare parts experts find out the
best vehicle and equipment spare parts you need for you .

We produce the best service and top quality spare parts on the market for you in addition to the most
competitive prices thanks to our long- term raw material supplier bussiness relationship.

We carefully select our business partners from specialized and competent companies in their fields.

We ensure both wholesale and retail sale of our carefully manufactured products for our customers. We offer
flexible prices and individual payment terms for our corporate customers.

We will always find the best solution fo meet your demands and operationalise your vehicle and equipment in
a short time. First of all, it is our mission to develop a long-term relationship with our customers as a reliable
partner.

We look forward to hearing from you.

www.betto.com.tr



w . . R
- =
- =
- T | :i - et L
e I . T
B2 % | ' = .I‘.F L lI I
- . iin] -
!
| 1 I fl i B
| ¥ % L : u':I y | " k i
1
L L = "4 F 8 N Ny ;:-\. F
il e — d . iy — ]
g R, e e
= = 3 = = _
* 3 -
: Ce o —e

ENJEKTOR TUTUCU CIVATASI BETTO No | B20127 ENJEKTOR TUTUCU CIVATASI BETTO No | B20172

Socket head bolt with inner multipoint head Socket ;"_{}-.;;ii bolt with inner multipo head
.—:._¢..szf.ax_.,a~:‘_5‘.-a':‘-‘.:a'::-i- mit Innenvielzahnkopf Zylinderschraube mit | _c,r“'-,-'Ee?rf;ai'*""ﬁ-;::{::?
e e WHT 003 187 Paramseye WHT 004 770
CADDY 2010 >> 2015 GOLF 6 POLO  2010>> FABIA 2010 >>
PASSAT 2010 >> 2015 GOLF 7 IBIZA 2010 >>
POLO 2010 >> 2015 JETTA 12 7TDI CFWA
AMAROK 2010 >> 2017 M6 X 1X 106

CAYA, CAYB, CAYC, CAYD, CAYE,CLNA
M6EXTX71 -

ENJEKTOR TUITLIERS CIVATASl BETTO No | B20130 ENJEKTOR TUTUCU ClVATASl BETTO No | B20170

. NE Hi ,,1 0| -IL '-,’-,-'l ] ||‘|"' L M 1 .h|]'| ]'|" ‘.I'r L (et nead ::r'.'_} ff :I I ” M H:-.:. jele

"J 1derschraube mit Innenvie ’+ \Kopf Zylinderschraube mit innenvielzahnkoj

P WHT 004 739 - PP 070 103 385 A

Apply for CRAFTER 2012 >> 2016 PASSAT 2016 >> 2020 _. TRANSPORTER2003 >> 2016 TOUAREG 2005 >> 2010
CADDY 2016 5> 2022 : 2.5 TDI AXD, BAC, BLK, BPE, BPD
GOLF 2016 >> 2020 (J

2.0 TDI CKUB-CKUC CDCA-CDBA-CNFA-CSHA-CFHC-CLGA-CLCB-CFHR-CRLB-CRGA-CRLD
1,6 TDI CLHA-DCX

M6X1X86
ENJEKTOR TUTUCU CIVATASI BETTO No | B20148 ENJEKTOR TUTUCU CIVATAS! BETTO No | B20150
socket head bolt with inner multipoint head Socket head bolt with inner mul int head
}E*_-,rfs:‘;r_'i:r.’f nraube mit Innenvielzaht 1{*?-.3.}‘.' Zylinderschraube mit Innenvielz “:Z‘-.:::-'f.ﬂ:;}%'
el WHT 005 490 . Reference No 038103 385 A
aCall CRAFTER 2018 >> 2020 POLO 2010 >> 2022 aa CADDY 2004 >> 2015 PASSAT 2001 >> 2005
PASSAT 2015 >> 2022 : GOLF 2003 >> 2008 POLO 2002 >> 2010
s JETTA TRANSPORTER 2003 >> 2016
DAUA - DAUB - CRK - CXX - CUSA - CUSB (J'
MEXIX91 o 1.9 TDI BJB-BKD-BXE-AVF-AMF-AXB-AXC

M6X1X63

ENJEKTOR TUTUCU CIVATASI BETTO No | B20149 ENJEKTOR TUTUCU CIVATASI BETTO No | B20161

-.-J' .|'|- J ”' .I-I-.-I‘i.-l."\._. 1‘-.“. II ..I;'i-;.;..'\-':.- :_ l = | '--..J _'l' il‘ ‘E '1—1{'_ "{J"l. "-"I: ‘, 'ﬁ:' ‘\ } 1 1‘ .h.'.' rF ‘1 L= rlf-: :JII!‘ ..J"u:' :I'
Zylinderschraube mit Innenvielzahnkopf Zylingerschraube mit Innenvielizan hn
el WHT 005 478 Reference No WHT 003 179
03G103 385 A
Apply for GOLF 2015 >> 2020 CADDY 2015 >> 2020 gy GOLE 2006 >> 2010
_ JETTA 2006 >> 2010
CLH-CFHC - CLC PASSAT 2006 >> 2010
M6 X1X106 (J—
5.8 2.0 TDI BKP BKD AZV
MeX1X88.5

ENJEKTOR TUTUCU CIVATASI BETTO No | B20171 ENJEKTOR CIVATASI BETTO No | B20233

Socket head ",.r’ﬂ' with inne

.-\.'-1

Zylinderschraube mit Innenvielzah "rii‘rr:-'

':..!'-..- 'L- m g e
L I J"h"f LtOr .,31,?'-;5"'.?':'

gl F=1 & adal d=
HJERLUT aGI

WHT 004 923 [ WHT006449

WHT 004 923 B

Apply for TOUAREG 2010 >> 2022 Q7 2010 >> 2022
A4 2010 >> 2022 PORSCHE CAYENNE
A5 2010 >> 2022

3,0 TDI CSWB,CRTC,CJMA,CRCA,CNRB,CVMCCVMD, DENA,DEND
M6 X1X94

Apply for VAG

M6 XT1X37

Not : Urdnterimizin hic biri orjinal dediidir. Numaralar ve bilgiler referans amagh yazimistir. _ Not » Oriinterimizin hig biri orjinal degildir, Numaralar ve bilgiler referans amach yazimistir,

Note  : Our products are not original products. Numbers and information are given Just for reference. www. belto.com.tr - @ % Note :Ourproducts are not original products. Numbers and information are given just for reference.
Hinwels : Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz. PN il 2. ; _ .' "% Hinweis ; Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.



Betlo

Betlo

ENJEKTOR CIVATASI

g =
= W

1_ I'F' gl N

" & _'.""r."_-l '\-‘a-ll-- i

N 10581102

Apply for VOLKSWAGEN
AUDI
SKODA

2,0 CEGA, CBBB ,CJAA,CJDA ,CJDD, CBDA,CBDB,CEGA,
M8 X 1.25X 58

ENJEKTOR TUTUCU CIVATASI

i B
Socket head bolt N inner m jele aa

WHTO008080A

Apply for VAG

BETTO No | B20246

M6 X 1X108

ENJEKTOR TUTUCU CIVATASI BETTO No | B20162

Soc 1ead bolt with inner
.'f’g.-'.’r.r':-:éi-z rschraube mit '.:'}i'tt-f‘-:‘c"u-Ei::-é;"'.'f?f:‘!'."ib;{'};'}f'
DCaEAr] A 000 990 29 07 A 004 990 28 12

A 003 990 40 12 A 611990 0122

MERCEDES VITO
SPRINTER
EURO 4 /KO5073719AA / K05073719AB / 68001053AA
M6 X1X77

ENJEKTOR TUTUCU CI\/ATASI BETTO No | B20163

Reference No A 001920 26 07
Apply for MERCEDES VITO
SPRINTER

EURO S
M7 X1X77

Note :Our products are not orfginal products. Numbers and Information are given Just for reference.

Hinwels ! Unsere Produkte sind keine Orfginaiprodukte. Nummern und Informationen dienen nur als referenz. -’“ 'i""f i "*‘ !

<,
Not : Urdnierimizin hig birl orjfinal dediidir. Numaralar ve bilgiler referans amagly yazirmstir. {'L ! i 5 . {E

o Ry
"' ‘ I' 4\.. 'ﬂﬁ-ﬁ Note : Our products are not original products. Numbers and information are given just for reference.

.r :
P‘d- ‘ fL -.:...u"-ihqa

ENJEKTOR CIVATAS

I8t
-:'-ri'-'.-x.-.'q_'i S

BETTO No | B20232

i - -'.:- i".-'-.l'r-_r";-| ke N "1.
1-1;-1'. Krorscnraupe

EEe el AD039900322

Apply for MERCEDES

M6X1X85

ENJEKTOR KUTUK TUTUCU CIVATASI

! - N = L¥ ]-\..._-. .-'I ."..- |

BETTO No | B20201

T R | B pa— : -
-'" i Ilc Ll LRAAL MMl _'.|-.'.".-I"5,.|-_"_-'i|_..|_,a:|-,UD‘.

LAl R",

s RENAULT - 8200376373 OPEL - 44 31262
GENERAL MOTORS - 93161698 NISSAN - 0112100GQ0C
MERCEDES - 6269900501

RENAULT TRAFIC II 2006 >>
MASTER I 2010>> NISSAN
FLUANCE 2014 >> X-TRAIL Il 2016 >>
KADJAR 2015 >> X-TRAIL Il 2007 >> 2013
MEGANE IV 2016 >> QASHQAI 2007 >> 2013
TALISMAN 2016 >> 1,6 DCI R9M
TRAFIC Il 2015 >> X-TRAIL N 2014 >>>
LAGUNA Il 2007 >> 2015 QASHQAI N 2013>>
KOLEOS | 2008 >>
23DCIMIT T1,6DCIROM 2.0 DCIM9R
M8 X 1,25 X 83
ENJEKTOR CIVATAS| BETTO No | B20236

PREEE 8200548368

Apply for RENAULT
M8 X1.25X 60

ENJEKTOR TUTUCU CIVATASl BETTO No | B20169
OC i.. 1 -]-\';'w';'—-'l.'nln'l MUl I_.h:'.lr.-. nead
J_ ylinde :5-.:'5'?=-';-‘::..16.:u:r~ mit Innenvie .f_ft.E:-..ia:j_;::"

= 13537805256
7805256

Apply far BMW
F15-F25-F30 - F31
N47 D
M8x1.25x93 >

Not + Oriinferimizin hic biri orjinal dedildir. Numaralar ve bilgiler referans amaci yaziimistir,
www. betto.com.ir
¥3 '\ a Hinweis : Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.



Betlo

Betlo

ENJEKTOR CIVATASI

njector screw

| "'.n:"'-:"."""":.'-"F""."' 1aTa’
INHEeRKLONSCINNaui)e

PRl LRO73719 - JDE36973

BETTO No | B20322

Apply for LAND ROVER Tk
M6 X 1XT113.5 Uy
ENJEKTOR CIVATASI BETTO No | B20314
| _;-p-._' 5‘ e

EEEEl] 2071881 - GK2Q9TS506AA

Apply for FORD
M8 X1.25X50

ENJEKTOR TUTUEC CIVATASI

Socket head bolt with .]'L.-‘d?:'-T'r‘il'f 201Nt ne

o S | | = i o B i @ i B - S——— .!
i}"'-f-'--":':;’:?-,:.‘-!uL'.'..H..‘.':!:ff innan l. IZzannk op

PSA - 96 757 429 80 - 9675742980
FORD - 1717583 - BK2Q-9T506-BA - BK2Q9T506BA

T CITROEN FORD
JUMPER TOURNEO CUSTOM V362
PEUGEOT TRANSIT CUSTOM V362
BOXER TRANSIT V363
PSA FORD
2,2 HD| 2.2 TDCI (100) : DRFF , DRF4, DRFG
4HG, 4HH, 4HJ 2.2 TDCI (125) : CYF4, CYFF
TR 2.2 TDCI (155) : CVFF
EI\IJ EKTOR CIVATASI BETTO No | B20200
ctor .!_ﬂ '.
Ef—’.k:‘::’-;‘.,‘-r?i_ bolzen
eEEhll FORD - 1427941 - 6G9G-9D927-AA - 6G9Q9D927AA L .
PSA - 1982 E1 \k“\ |
Edcall PSA - FORD T
S |
M8 X 1,25 X 82 “”“a.,“i?f_ ‘e

ENJEKTOR TUTUCU CIVATASI BETTO No | B20196

with Inner .!_-f.. It hea

ot

i e e -
’ry"!..,{.-:.'::w{...'L{J.-.-'-_.,“:?, it Innenvielzahnk Op

PSA - 1982G5
FORD - 1685783 - AV6Q-9T506-AA
GENERAL MOTORS - 3642467
MAZDA - Y65013G08 - Y650-13-GO8
VOLVO - 31321480

Apply for PSA - FORD - GENERAL MOTORS - MAZDA -VOLVO
M8 X 1.5X57

® Not : Urdnierimizin hic biri orfinal dediidir. Numaralar ve bilgiler referans amagil yazirmstir.

Note : Qur products are not orfginal products, Numbers and Information are glven Just for reference. www.Delto.com.tlr
Hinwels ! Unsere Produkte sind keine Orfginaiprodukte. Nummern und Informationen dienen nur als referenz.

ENJEKTOR CIVATASI

[ .-'i ;rr \\'I:_"‘.Irllll

;:, sktorschra

ot i':.-:'-'_'

e 1444999 - 1132518 - W707526-5442

W707526-S309 - W7075265442
W7075265309
Apply for FORD
M8 X 1.25 X 35
ENJEKTOR SAPLAMASI
frwf

el PSA 198283 - FORD 3M5Q9D927BA - 1233685

Apply for PSA - FORD

M7 X 72 OZEL +A8.8 PN

ENJEKTOR CIVATASI

g ; F.l"-'_.ll"\' F
I .j‘. L) h'ﬁ.-'l"\.:'-'l"'

mianliarechraiihva
HEeERKLONSUNMaupe

el FORD 6C1Q9T506AC - 6C1Q9T506AB

1673999 - 1372386
PSA 1610369580-1982.C8

FORD - PSA

M6 X 102 OZEL +A 10.9

ENJEKTOR CIVATASI

.l L _'|.| _:”% ';'::"'.-,-1.

E - L
niaErorscnr &y
:"'.-"' PR St il _-1..'.137_‘.'

el FORD 256Q-9T506-AC - 256Q9T506AC
256Q-9T506-AB - 2S6Q9T506AB
1488994 - 1432562
PSA 198273 - 198278

Apply for FORD
PSA

M8 X 1.25X 38

ENJEKTOR CIVATAS

W Screw

':~'"=fr=.iv:'5'LJ'.-'Ef""'-"iv' be
jeKtorschraube

Gl PSA 1692647280 - 9808982780
FORD JX6Q9T506AA -2190848
FIAT 55257018

Apply for FORD - PSA - FIAT
M8 X1.25X925

Not : Uriinlerimizin hig biri orjinal degitdir. Numaralar ve bilgiler referans amach yazilmigtir,
Note : Our products are hot original products. Numbers and information are given just for reference.

B Hinweis : Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.

BETTO No | B20231

BETTO No | B20281

BETTO No | B20282

BETTO No | B20239

BETTO No | B20308




Betlo

Beltlo

ENJEKTOR TUTUCU BETTO No | B20121

o "T'H}"i‘u piece

nnpr atze
O3L 130 216 | e
=y ‘—.\ 1 =
i dll CADDY 2010 >> 2015 GOLF 6 | ) . ‘

PASSAT 2010 >> 2015 GOLF 7 ) R
POLO 2010 >> 2015 JETTA W |-
AMAROK 2010 >> 2017
1.6 TDI 2.0 TDI

CAYA, CAYB, CAYC, CAYD, CAYE CFFA, CFFB

ENJEKTOR TUTUCU

Clamping piece

Spannpratze

VOLKSWAGEN 04L 130 216 - 04L 130 216 A

BETTO No | B20129

_—

O3L130216 A
MAN 65114010001 . l
Apply for CRAFTER 2012 >> 2016 GOLF 2016 >> 2020
AMAROK 2013 >> 2022 PASSAT 2016 >> 2020 =
CADDY 2016 >> 2022
2.0 TDI 1,6 TDI
CKUB-CKUC CLHA-DCX

CDCA-CDBA-CNFA-CSHA-CFHC-CLGA-CL
CB-CFHR-CRLB-CRGA-CRLD

ENJEKTOR TUTUCU

Clamping piece

BETTO No | B20151

Spannpratze

03P 130 216

POLO  2010>> FABIA 2009 >> 2015
iBizA 2009 >> 2015
1,2 TDI .
CFWA

ENJEKTOR TUTUCU BETTO No | B20217
Eh J Jiece

,ﬁﬁ’?‘ﬁ'rﬁ-';- — ﬁ
| RS YV

RN 076130216

Apply for VAG

L

4

BETTO No | B20277

ENJEKTOR TUTUCU

Clamping piece
Spannpratze

R 059130216C
Apply for VAG

@ Not * Uriinferimizin hig biri orjinal degildir. Numaralar ve bilgiler referans amagli yazilmustir.

Note :Our products are not original products. Numbers and information are given just for reference.
Hinweis : Unsere Produkte sind keine Originalprodukie. Nummern und Informationen dienen nur als referenz.

ENJEKTOR TUTUCU

Clamping piece
Spannpratze

Gl 23695-33010
2369533010

Apply for TOYOTA

ENJEKTOR TUTUCU

Clamping piece

Spannpratze

Gl 23695-33020
2369533020

Apply for TOYOTA

ENJEKTOR TUTUCU

Clamping piece
Spannpratze
ECCEEl FORD AV6Q-9L535DA - AV6Q-9L535CA - 2429669

PSA 1613181280 - 1982G3 - 9801927080
FIAT / LANCIA / ALFA 9802823880

VOLVO 2429669

Apply for FORD LANCIA
PSA ALFA
FIAT VOLVO

ENJEKTOR TUTUCU

f"ﬁ*m,‘:li-*srg ;:**'-"- ce
_ra :Iir’l{-}t -

CEEE N FORD OMSQOESGEAB - 1719487
PSA 1982.G2 - 1982.J3

FORD
PSA

ENJEKTOR TUTUCU

Llamping piece
H‘r 1.3 .!' -'t .-' 1'|.

rEEce sl FORD DS7TQ9L535AA
PSA 9674341880 - 9830386380

Apply for FORD
PSA

Not : Uriinlerimizin hig biri orjinal dediidir. Numaralar ve bilgiler referans amagh yazilmistir,
Note ! Our products are not orlginal products. Numbers and information are given fust for reference.

- s Hinwels : Unsere Produkte sind keine Orlginalprodukte. Nummern und Informationen dienen nur als referenz.

BETTO No | B20341

-— e

BETTO No | B20342

BETTO No | B20241




. .
= -
B 3
- [ | - = L
o s k
- | .'Ir N, t
oy, % W i P L
i h i
=, i | | L 1
i1 B3R} 1 0 ) §
AN \ - /]
k r " L I
B Y, e o . . F
I} - o T, |} b -, -
E 1 " . g
- = i » - . -
v e - "
R - TNt |
.y - =
P S . .

ENJEKTOR TUTUCU BETTO No | B20242 ENJEKTOR TUTUCU BETTO No | B20208

‘milalm 10 .
il rl._:'ra":'.-_j 'g_.:.i‘: L2

.l'-h'-\;,'-\--'.'\._: . B all=" ‘.
e | 1N j_.".ll:l-l i..d'l"\...l:-_.l_‘ ’

o smmraest
i e

Talald=lrds
Al il aLLe
| i

o g
I.II. | - '3 ’
IR QLLE

"

FORD JX6QIL535AA - 2190869
PSA 9811760780

Apply for FORD
PSA

el A6420160038

Apply for MERCEDES

ENJEKTOR TUTUCU BETTO No | B20195 ENJEKTOR TUTUCU BETTO No | B20199

Clampii g p =
IMping piece f;:,.‘::“_.m”,:{,._.:}
S;‘_::.‘-_‘:;‘ pratze sSpannpratze
7C16-9L535-EB EenR s AG110160738
7C169L535EB : :
v Apply for MERCEDES SPRINTER
L"‘f w . W/ OME611, OM612, OM613, OM628, OM646

Apply for FORD

ENJEKTOR TLI TR BETTO No | B20218 ENJEKTOR TUTUCU BETTO No | B20209

| = '. ¥
l‘ ".I II'H.-.: r ||,_ l\_{, '-I
1DINAG £

|. ! ; _I' L-

o e

e N =-.5-'

ot :--} = 'r:ll'!-=l.‘”; el -.f-.- ':;ll.‘\. =1ulal & 5

: . SOl IR alLlie
i |

raEcn - FORD 1673998 - 1422558 el AG510160438

6C1Q9L535AD - 6C1Q9L535AC
PSA 1982C7
FIAT 9659325780

Apply for FORD
PSA
FIAT

Apply for MERCEDES
SPRINTER EUROS

ENJEKTOR TUTUCU ENJEKTOR TUTUCU BETTO No | B20220

'!I - ._1,_"'

el A6680160038

1135717 - 1S4Q9L535AC

Apply for FORD
Apply for MERCEDES

ENJEKTOR TUTUCU BETTO No | B20219
Tping eoc ENJEKTOR TUTUCU

L
T S

-
e =1 .
_'-'-.-..-'U:.':r':-.."":.." ]

gl PSA 1609848680 - 1982A1 -1982A8 - 1607150180
FORD 1487874 - 1473372 - 1230957 - 1335243
3M5Q-9L535-AC - SM5Q-9L535-AB - 3M5Q-9L535-AA - 3M5Q-9L535-BA

FORD
PSA

P
| '1-“', '|,::' I

c o ——
spDannpratze

el 13537809798

BMW
F20-F21-F22-F23-F30-F31-F34-
F35-F32-F33-F36-G20-G21-
G28-G30-G31-F10-F11

N47 - B47

Not : Urtinferimizin hig biri orjinal dedildir. Numaralar ve bilgiler referans amagh yazvimigstir,

Not : Uridinferimizin hig biri orjinal degildir. Numaralar ve bilgiler referans amacls yazimistir.
Note : Ourproducts are not orlginal products. Numbers and information are given just for reference.

Note : Our producis are nol original products. Numbers and information are given just for reference. WWW.! -ﬂ [ro.com.lr 4 T R 2T =4
Hinweis : Unsere Produkte sind keine Originalprodukie. Nummern und Informationen dienen nur als referenz. % . : 2 - i Hinwels : Unsere Produkte sind keine Originaliprodukte. Nummern und Informationen dienen nur als referenz.




- L2 5 | - --.\,
n, —
.’-_1 o) h -:.:"a J"‘:' !
e 1 . 1
1 qI. B R i ! 3 1
| I| A L J i ] '{ i |'I | I
. = ” K y i & y
i I|l"\":- - ' g g e
, A . i i 1 T .

ENJ EKTOR TUTUCU BETTO No | B20324 KAPAK ENJEKTOR BETTO No | B20213

i'i,Tf_* 5:%’*

niaro

C!_._ ing piece
= d : : .

B “-"“'_‘-':l""--r'""l".:""\'.i"
IMEeRLOrGICntiung

PRl LRO73696 REEEll] 059103113E ~ 059103113F - 0591031136

Apply for LAND ROVER - JAGUAR Apply for R

ENJEKTOR TUTUCU BETTO No | B20326 ALT|GEN FATURAU SOMUN BETTO No | B20180
ot oo s chelanibindmiies

=il SHO1-13-H75A RG] N 904 465 02

Apply for MAZDA

Apply for VAG

ENJEKTOR SEKMAN] BETTO No | B20126
|-5. CIOr u:“‘“ C]
Finspritzeinheit ar'f. lammer
ENJEKTOR TUTUCU BETTO No | B20221
Clambing Reference No "L} | FORD
Clamping piece O3L 130 447 4S7Q 9F524 AB
Spannpratze e — PEUGEOT RENAULT
PSS 38200433867 L je— :::92:: 7701477442
P al RENAULT FORD PASSAT 2010 >> 2015
TRANSIT 2006 >> 2014 POLO 2010 >> 2015
PSA AMAROK 2010 >> 2017
PUMA - 407 - 607 - BOXERIII GOLF 6
C5(X7) C6 JUMPER Il GOLF 7
VOLKSWAGEN JETTA
CADDY 2010 >> 2015
1.6 TDI BKP.CBAB
EN‘JEKTOR TUTUCU BETTO No | B20197 CAYA, CAYB, CAYC, CAYD, CLNA PEUGEOT
Clamping piece 207D! FORD
Soannbiatze CJAA, CFFB, CBAB,CBBB,BMR 2.4 TDCI
Spannpratze 2,0 TDI 16V

ASAGIDAKI ENJEKTOR NUMARALARINA UYAR
Fits injectors with the following part numbers

A2C59511606 - A2C59571315 - A2C59511316 A2C59511364
A2C59513553 - A2C59513596 - A2C59513597

=] FIAT 46343739 - 55248609 - 55204945 - 46745866
55198348 - 55198347 - 46764763
OPEL 8 21 050 - 95530830 - 55248609

SULALEEE 93191306 - 0821029
ALFA ROMEO 46343739 - 55248609 - 55204945
46745866 - 55198348 - 55198347 - 46764763 ENJ EKTO R SEKMANI BETTO No | B20244
LANCIA 46343739 - 55248609 Injector Unit Clip
Ei::—:};;{?-.-L.:.n:‘?a.:?:ffé'i; Klammer
KAPAK ENJEKTOR BETTO No | B20212 PN MERCEDES A0019915870  GMC 97359750
S IVECO 500378001 ISUZU 8-97359 - 7500
O e PSA 1982 70 VOLVO 3583122
Injektordichtung FIAT 500378001 RENAULT TRUCKS 5600684103

FEEE el 03L103113 BOSCH FOORJ00322 - FOOVC22003

Aol for Rl MERCEDES - IVECO
FIAT - PSA - GMC - ISUZU -VOLVO

RENAULT TRUCKS - BOSCH

Not : Urtinferimizin hig biri orjinal dedildir. Numaralar ve bilgfler referans amagh yazrimistir.
Note : Ourproducts are not orlginal products. Numbers and Information are given just for reference. www.betto.com.ltr ®
s Hinwels : Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.

Not * Uriinferimizin hig biri arjinal degdildir. Numaralar ve bilgiler referans amagli yaziimistir.
i

Note  : Our products are not original products, Numbers and information are given just for reference. www.Dertto.com.ir
Hinweis ; Unsere Produkte sind keine Originalprodukite. Nummern und Informationen dienen nur als referenz.




1 - =
o "
! g o
-.-‘. .' - | "
= 1 = o L
e Ly b - % T
g L |
] 1 |
"'r I § R i I
R ® F i - RRS JT
' j |
-l IL" e~ 4 F = i | .: Ny i :
! i - g ¥
% "r.-' mmt® ] . o - .
§ b — E s S
Ey P =

ENJEKTOR SEKMANI BETTO No | B20245 SILINDIR KAPAK SAPLAMASI (SET 10’ LU) BETTO No | B20187

Injector Unit Clip Cylinder Head Bolt
L; I.E,« ) Tét-;:-?:‘.?'-f._'::f. Kiammer .-;_?.'.--':i-'iff:'-?‘;'-i snfschraube
‘ . - ! erKkopfschnraube
FORD 1379930 - 256Q9G719AA - G WHT 002 131
R - EREROTINA Apply for GOLF 2012 »>> 2020 POLO 2010 >> 2015
Apply for FORD e ¥ CADDY 2010 >> 2015 JETTA
PSA - TRANSPORTER 2016 >> AMAROK
" 1.6 TDI 2,0 TD!
CAYA, CAYB., CAYC, CAYD,CLNA CNEA,CSHA,CNFB,CDBA CAAB, CFFA,CFFB,
MI12 X 1.75 X 137 CFHC,CFHF,CLCA,CLCB,CKRA,CKUB,CKUC,
CSLA,CSNA

KULBUTOR MILT CI\/ATASI (MERKEZLEME VIDASI) - BETTO No | B20215
ocker Shaft Bolt (Centralizing Screy SILINDIR Kfi\PAK SAPLAMASI (SET 10" LU) BETTO No | B20247

i h ..'; Py Proge i b
Kipphebelwellenbolze (Zentralisierungsscnraube)
"h._'. ||||"'.|“\'{.I".: B 'Ia,_.ﬂi

Zylinderkoprschraube

e eea-aey 038103384

Sl 038103714 A

Apply for VOLKSWAGEN
SKODA
AUDI

SEAT
M8 X 1.25 X 80

Apply for VOLKSWAGEN
MI2X1.75X172

EKSANTRlK MlLl KEP CIVATASI (TARAKLI) BETTO No | B20216 SII_INDIR KAPAK SAPLAMASI (SET 8’ LD BETTO No | B20235

Camsh: '~..ci|;J BOIt (notchedq) *.._;-L_..L.-a'_'.'? Head j o]}
Nockenw ,."f.-'r' -if}?-.'E-tf:—i-'ef:"'w'::-t-%_::i‘f (gekerbt) Fulinderkonfechraiibe
FEOCLE] 038103714 FEOER ] 038103384

038103714G .

Apply for VOLKSWAGEN

Apply for VOLKSWAGEN MI2X1.75X172

AUDI '

M6 X1X54

SILINDIR KAPAK SAPLAMASI (SET 8’ LI) BETTO No | B20210 BIYEL KOL CIVATASI BETTO No | B20186

linder Head Bol Conne
".. | mll L '\._.C. -I_l -_.._.L.. |I:-1 f".-,..l - .."':: I:

Nlsiimles P e -
- i - . 5 =
FieueiasLiifnaupe

11248472924

I
Zyli !’“1,""4 chraube

WHT 002 131

WHT 002 131A
Apply for POLO 2010 >> 2016 FABIA >> 2016 Apply for N47 , N47 N, B47, M47, M57,
IBIZA 2010 >> 2016 M57 N, B37 ,MINI B37 B47
1.2 TDI CFWA BMW
N47
MI2X1.75 X137 MIX1.25X47
ST ) o AN
k" ]
Not : Uriinferimizin hig biri orjinal degildir. Numaralar ve bilgiler referans amacl yaziimistir. {ﬂ £y 'E . "!', % ‘ __ Not : Urinlerimizin hig biri orjinal dedildir. Numaralar ve bilgiler referans amagh yazrimistir. _ :
Note  : Our products are not original products, Numbers and information are given just for reference. www.betto.com.tr L T.-H 3 ‘. A 20t j. Note  :Our products are not orlginal products. Numbers and Information are given fust for reference. www.Dbetto.com.lr @
Hinweis ; Unsere Produkte sind keine Originalprodukie. Nummern und Informationen dienen nur als referenz. ' \ . f" Y ﬁi * o Hinwels : Unsere Produkte sind keime Originaiprodukte. Nummern und Informationen dienen nur als referenz.
ﬁ ﬁ lm g




Betlo

Beltlo

BIYEL KOL CIVATASI

~ aabivem s Il
Lonnecting rod pDoit

el 045105425
0451054258

Apply for CADDY 2010 >> 2015
GOLF 2003 >> 2009
GOLF 2009 >> 2012
GOLF 2012 >> 2019

1,6 TDI - CAYC, CAYD, CAYA, CAYB,CLHA, 2.0 TDI - DEJA, DEJB, CRLD,CNFB, CNEA,

CLHB, CRKA, CRKB,

1,9 TDI - BDJ, BJB, BLS, BMM,

M8 X1X44
BIYEL KOI_ CIVATASI

™l
;-&f.-}x:a?l_ _‘.‘:.. _". Ibe

eneaied A1120380071

BETTO No | B20188

JETTA
PASSAT 1998 >> 2015
POLO 2002 >> 2015

TRANSPORTER 2003 >> 2016

CSHA,CFHE, CLCA,

BETTO No | B20214

KARTER TAPASI BETTO No | B20289
Seali -'L ;:'}lu;-.. Oil sun 10
Verschlussstopfen, Olwanne

el RENAULT 60 01543168 -74 01271562 -77 03 075129

77 03075152-77 03 075 347 - 79 03 075 033

96 22 774 480 - 96 33 755 880 - 96 39 839 98

96 39 839 980
RENAULT TRUCKS 77 03 075 347

MERCEDES-BENZ A282 990 0017 - A470 998 56 00

282 990 00 17 - 470 998 56 00
SMART A282 9900017 -282990 0017
PEUGEOT 0163.93 - 163.93
NISSAN 11128-00Q0B - 32103-AX000 - 32103-00QAA - 79030-75033
MITSUBISHI MW31216539
FIAT 7703075152 - 7903075033 - 9622774480 - 9759915980
OPEL 9110558 - 4402558~ 4418098 -93192517- 4405550 -4433916

MI6 X1.5X12.20

Apply for MERCEDES

611 - 646 - 651
M8 X1X 47
KARTER TAPASI BETTO No | B20279
Sealing ph Ud Oil sump
/erschlussstopfen, Olwanne
FIAT 46823509 - 46823517 - 71753293 N
FORD 1722 061
OPEL 06 52 315 - 06 52 457 - 06 52 477
093177277 - 652315 - 652457 - 652477
93177277 - 98016867 -98016867 SK1
PSA 0311.42 - 311.42
BMW 24111423591 - 24117533937
SUZUKI  16590M86J30000 - 16590-63P00 - 16590-36J00 o=
SAAB 90 502 556 - 96 023 264

Apply for FIAT - FORD - OPEL - PSA
BMW - SUZUKI - SAAB

MI4X1.5X10
KARTER TAPAS] BETTO No | B20288
-|-r_._. plug, Oil sump
‘f-.’-z; schlussstopfen, Olwanne
Referance No Funn 1013933 o 2251319 = ETJHSTEOBA
GAD36730AA - XW42Z-6730-AA
Apply for PEUGEOT 031.32
VAG WHT 011 376
VOLVO 30711617
ROVER 4594914
FIAT /

ALFA ROMEO 55224611 - 6507741AA

9659107280 - KO6507741AA - 55232574
JEEP 06507741AA - 6507741AA - 68174414AA
LAND ROVER LRO73675
MAZDA 1E00-10-404 - ZZL0-10-404 - ZZM4-10-404
JAGUAR AJ813202 - AJ88461 - JZH100062 - LRO73675
CHRYSLER 06507741AA - 6507741AA - 68174414AA
DODGE 06507741AA - 6507741AA -68174414AA

Mi4X1.5X21

@ Not : Urdinferimizin hig biri orjinal degildir. Numaralar ve bilgiler referans amagh yaziimistir.

Note : Our products are not original products. Numbers and information are given just for reference.
Hinweis : Unsere Produkte sind keine Originalprodukie. Nummern und Informationen dienen nur als referenz.

BIJON

i 8L

) o o e e g
Haadmurtter

8D0601139D - BDOG0TI39A
WHTO001812 - WHT002437

Reference No

Apply for VAG
MI4X1.5X27

BIJON

¥ i - L
wheel nuf

Haamutter

sRECEl VOLKSWAGEN WHTO00O08B88
MERCEDES 0009902407
DODGE 68006805AA
CHRYSLER 68006805AA

Apply for VOLKSWAGEN - MERCEDES - DODGE - CHRYSLER
MI4 X 1.5 X 58

BIJON

% THL.

N } = T O R
HRaUOimTuUuiLLel

GEEcEE AOO0O 990 49 07 - AOOO 990 67 07 - ADOO 990 69 07
A000 990 72 07 - AOOO 990 79 07 - AOOO 990 98 07
A163 4010070 - A163 4010370 -A1634010670
A2114010370

Apply for MERCEDES

MI4dX1.5X27

Not : Urinferimizin hig biri orjinal dedildir. Numaralar ve bilgiler referans amagh yazrimistir,
Note : Ourproducts are not orfginal products. Numbers and Information are given fust for reference.

s Hinwels : Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.

BETTO No | B20211

BETTO No | B20291




Betlo

Betlo

BIJON

REECIEE] A0009905307 - AOOO 990 09 07 - AOOO 990 22 07
AO00 990 53 07 - ADOO 990 54 07 - AOOO 990 76 07
AOOO 990 76 07 S1- A140 400 0570 - A140 40107 70
A220 4010270

Apply for MERCEDES
MI4X1.5X45 8.86 KOSE INCE DIS

BIJON

Jlrl.'lf-:'r:."ﬁ.' Ut
Radmutter

A0009904807 - AOOO 990 10 07 - AOOO 990 48 07
A124 400 00 70 - A124 400 0170 - A124 400 04 70
A202 400 00 70 - A203 401 02 70 - A210 400 0170

Apply for MERCEDES
MIZX1.5X40 8.8-6 KﬁSE INCE DIS

BUON

vwheel nut

Radmutter

GGl BMW-MINI 36136781150 - 36 13 0 141574 - 36 13 0 141576
36131095390-36131116717-36131117 190
36131117191-36131118949-36131122 158
36131123585-36131126014-36131126191-36136 781150
MERCEDES-BENZ - A415 990 0107 - A415 990 0107 52
A415 990 02 07 - A415 990 02 07 S2 - A415 990 03 07
Ad415 990 03 07 52
RENAULT-DACIA 82 00 473 313 - 82 00 610 460

Aoply for MERCEDES - BMW - MINI - RENAULT - DACIA
MI2X1.5X48.5 8.8-6KOGSEHAVUZLUINCEDIS

PSRN BMW-MINI 36136890324 - 36 13 6 774 896
36 13 6 781151 - 36 13 6 890 324
TOYOTA 90118-WA330

Apply for BMW - MINI - TOYOTA

M14X1.25X46 8.8-6KOSE HAVUZLU INCE DIS

@ Not : UrGnlerimizin hic birl orfinal degiidir. Numaralar ve bilgiter referans amagh yazilmugtir.

Note :Our products are not orfginal products. Numbers and Informatfon are glven Just for reference.
Hinweis @ Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.

BETTO No | B20293

BETTO No | B20294

BETTO No | B20295

BIJON

Wheel nui

—_ z .
B Tal szl d=]
MOl iIuLLe;

Reference No PSA. 5‘4“5-?9
FIAT 1351203080

L PSA - FIAT
MI16 X 1.5 X 63 8.8

BIJON

"*IS",._I i

- -
=LY, } niittar
g i=1" TR NRARLCH

P mmees PSA 9817024580 - 5405.67 - 9406.84
96 824 050 80-98170 245 80

Anply for FIAT 9644576680
OPEL 35 49 817 - 98170 245 80
TOYOTA SUOD1-A5781 - SUOO01-A7422
VAUXHALL 003549817 - 03549817 - 3549817
98 170 245 80

MI2X1.25X588.8

BIJOI\I

Vi i
neel nut

!-mfj:.. utter

PPN RENAULT 8200639129 - 82 00 045 276
82 00 366 209 - 82 00 639 129 - 82 00 276 544
OPEL 44 12 908 - 44 14 784 - 44 18 227
VAUXHALL 091169857 - 093853173 - 093858987
91169857 - 93853173 - 93858987

Apply for RENAULT - OPEL - VAUXHALL

MI4X1.5X608.8

BIJON

|
Wheel nu
Radmutter

] RENAULT 7703003018 - 7703003006
OPEL 4422328 - 93453394 - 93461087

Apply for RENAULT - OPEL
MI4dX1.5X588.8

REEEEN] 8200623085 - 40 22 298 10R
8200025716 -82 00 294 820 - 82 00 473 353
8200473 425-82 00 623 085

Apply for RENAULT-DACIA

MI2X1.5X5410.9

Not : Uriinferimizin hig biri orjinal degildir. Numaralar ve bilgiler referans amagch yaziimistir.

Nete  : Our products are not original products. Numbers and information are given just for reference.,

s Hinweis : Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.

BETTO No | B20296




Betlo

BIJON

u'i r-.

b B
E'{:‘.”'ui [MULLEl

PN RENAULT 7703003008 - 7703003014 - 7707003016
40 22 260 88R - 77 03 003 007 - 77 03 003 008
ol 77 03 003 014 - 77 07 003 016 - 82 00 623 087
82 00 294 820 - 40 22 272 72R - 82 00 473 313

40 22 22121R- 82 00 610 460 - 82 00 460 133
40 22 298 10R

MERCEDES-BENZ A415 990 04 07 - A453 990 00 07

MIZX1.5X508.8
BIJON

o T O e
HRAdGMULLE}

RN OPEL 1008501 - 1008504 - 4709077 - 90473457 - 1008504
FIAT 51732885

Apply for GENERAL MOTORS 90342774 - 90473457 - 93193919
SUZUKI 43423-86G00 - 43423-86G01
VAUXHALL 013102525 - 090342774 - 090473457
093193919 - 13102525 - 90342774 - 90473457
93193919

Mi2X1.5X4810.9

BIJON

Wh nL

Radmuttei

PPN 3A0601139 - 3A0 601139
321601139 C

Apply for VAG

MI2X1.5X458.8

BIJON

| [ P W
RKaadmuitel

Py VAG 7016011398 - 7M0 601139 A
701601139-7016011398B
FORD USA - 95VYW-1107-AB
FORD 7 201 016

Apply for VAG - FORD

Mi4X1.5X5810.9

BUON

."!.' -|..—\._. ' : o
Yy K
S -

I f
;; ,.I'l "-I I '“l;,

85003224

Apply for FIAT

Mi2X1.25X598.8

Note :Ourproducts are not orfginal products, Numbers and Information are given Just for reference.
Hinwels @ Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.

Not : OrGnierimizin hic birl orjfinal dediidir. Numaralar ve bilgiler referans amagly yazurmistir.

BETTO No | B20301

BETTO No | B20304

BETTO No | B20305

] ar = . P
Wwww.pelio.com.ir

fﬂﬁq’# ".,;" *.'E
gt
LB ;""

BIJON

'heel nL

21

a..'i-.
P i'\.-;"l :'1.1-..1'“.

FEEC el 13230535

Apply for FIAT

MI2X1.25X47.510.9

BIJON

AR |
\imasl mir
":'!.""!T.:"[:_"- '.1-|.I..!l:‘.

PPN EIAT 11294235 - 13230325
13230335 - 13230425 - 13230435
FORD 1559 373 - 1850 468

PSA 16 073 709 80 - 16 126 157 80 - 5405.83

Apply for FIAT - FORD - PSA

Mi2X1.25X4810.9

EGZOZ MANIFOLD CIVATASI

Betlo

BETTO No | B20306

BETTO No | B20307

BETTO No | B20193

L h'i 11 f” '*"'-. :'.‘_'il'm.'-!'!,
Schraube auspuffkriimmer
Reference No 9049900312 9049900212
A9049900312 A9049900412
AS049900212
ACTROS MP4/ MP5 11 > ATEGO 3 >13>
AROCS 13> AXOR 02>04
ANTOS 12 > AXOR 2 04>
ATEGO 98 >04 CITARO (0 530 ) 98>
ATEGO 2 04> CONECTO (O 345 )>01
MIOX1.5X47
EGZOZ MANIFOLD CIVATASI BETTO No | B20194
Exhaust manifold bolt
Scl ;rﬁ;i?:?f-:- auspuffkrimmer
PO A404 9905119 A447 99074 04 447 990 6104
A444 9905119 A457 990 20 01 447 9907 04
A447 990 55 04 404 9905119 447 990 74 04
A447 990 61 04 444 990 5119 457 990 20 01
A447 990 7104 447 990 55 04
Apply for MERCEDES
MIOX1,50X10510,9

=]
ol

§ s

x
F. g

Noi : Uriinlerimizin hig biri orjinal degildir. Numaralar ve bilgiler referans amach yazilmigtir.

i ¥ i,
e Ll 3'..‘ Y }ﬁ$. i* Note : Our products are nof original products. Numbers and information are given just for reference.
. wd i_w_- ﬁp ¥ " s Hinweis : Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.



= = & - E O -
. '.- im r - = b,
A I
g, e I - __-"" 1 _'. A
. .- N /
P LI L k. X
% k
iR N ) 1 B "EE
1 & ] i L A
| AL T N S i ! |I ] 'i - rF F i i
1 & ) o N e o= 3
y i & = B N et
1‘ " e .;\- 3 o - N r J "
'-.- B e . o i 1|
| ST ' T
x "'..‘- '_l
. - — = o

EGZOZ MANIFOLD CiVATASI EGZOZ MANIFOLD CIVATASI BETTO No | B20309

BETTO No | B20240

1 10 & o | 1 :-'.ﬁ,"
i o 3 |
ganNiToId BOIL

tict Manifald ."_-.I,.,E:
O B R | i

Ablaackriimmarerhranba

f '\-a--_':".:l-."."-'ﬂ-\.n:':-"-\.||.l"-«.1|"'-':r|.-l.-!'.-

] 51904300090
51904900069

[T} [ ]
Almasclrriimarrsare~mrEr=an e a
ADUdsKRidimimersciiraupe

¥ S

FEECEEE N 000933 010347

Apply for MAN

MERCEDES

MIOX1.5X60

M8 X1.25X 80

EGZ0OZ MANIFOLD CIVATASI BETTO No | B20315

EGZOZ SISTEMI CIVATASI BETTO No | B20249

1d ,..':'-. 3\.- ) Len

Gl 51904900029 - 51900010168
51904900033

- & = 5 o i
sl =100 aT= " Yl ailtus=Tall=Tal=
>CNraupe Ler Auspuiianiadge

eayd A 457 990 12 01 - A4479906004 - A402 990 50 19 - A422 990 00 19 G A MAN

A447 990 54 04 - A447 990 60 04 - A447 990 67 04 - A457 99012 01
4029905019-422990 0019 - 447 990 54 04 - 447 990 60 04
447 990 67 04 - 457 990 12 01

MIOXT1.5X 48

Apply fo MERCEDES

EGZOZ MANIFOLD CIVATASI

M10 X 1.5 X 85
MAN 51904900030 - 51900010156
51900010166 - 51904300045 - 51900010123
VW 2V5103448D
EGZOZ MAN|FO | D CIVATASI BETTO No | B20278 P MAN - VOLKSWAGEN
po MIOX1.5X 57

RENAULT 7400965189 - 7400984760
VOLVO 965189 - 984760

Apply for RENAULT - VOLVO

EGZOZ MANIFOLD CIVATASI

MIOX1.5X 90 rEEcnE 51904900032

Apply for MAN

MIOX1.5X95

EGZOZ SISTEMI CIVATASI BETTO No | B20287

I -y [
E - 2 L X o
vi= et Ky arm Bnl
.:-'.':!_.'.."J- -\...l"!:}:_'-\..l"' LA L

4

Schraube Der Auspuffanlage ’f}}“f;;'-'i’*'r-:—,, EGZOZ MAN IFOLD CIVATASI
W
e 51,.90001.0167 i/ f},rf e 1aust Manifold Bolt
51.90001.0122 # ,,,ff Ahaadhificamarerkin ds
5‘-9u4m- E f{' '-|.-.:.._j_._r"-...r|.-. -.-_..-_-....._r_-...._

o, e 51904900102
Apply for MAN | \

) . Apply for MAN
MIO X 1.5X 75 ALTI KOSE y.
- M8 X1.25X40

Not : Uriinferimizin hic biri orjinal dediidir. Numaralar ve bilgiler referans amagh yazimistir. . Not : Uriinlerimizin hi biri orjinal degiidir. Numaralar ve bilgiler referans amach yaziimigtir.
@ Note  : QOur products are not orfginal products, Numbers and Information are glven Just for reference. www.Dhetto.com.ir -:'1 X Note . Ourproductsare not original products. Numbers and information are given just for reference.

Hinweis ! Unsere Produkte sind keine Originalprodukte. Nummern und informationen dienen nur als referenz. -“ ':" . =I: f z _* & Hinweis : Unsere Pradukte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.



Betlo

SILINDIR KAPAK SAPLAMASI (SET)

Tl

;‘" .'I I.I'r L "‘.a. r.i -J-I:'\." L I_. L

rdTl [ | PR Ny
.UL...".-.J'_,J.::f..'..'-'_:-..-i.'zs::-,t-'.

X51.90490.0022 = 2 ADET (2 PCS)
X51.90490.0023 = 3 ADET (3 PCS)
X51.90490.0024 = 1 ADET (1 PCS)

Apply for MAN NEOPLAN

M15X2X168 = 2 ADET (B20224)(2 PCS)

M15X2X144 = 3 ADET (B20225)(3 PCS)
MI5X2X109 = 1 ADET (B20226)(1 PCS)

SILINDIR KAPAK SAPLAMASI

"l Nno M U

'“|'I.": - l!. rail ?H"':.'

MAN
51.90490.0022
51.90020.0234
51.90020.0268

Apply for MAN NEOPLAN

MI15X2X168

NEOPLAN
51.90450.0022

SILINDIR KAF’AK SAPLAMASI

in

"'-._ I' '~.-'-

|. d- - . -"

ol e Fe |
L™ | - 5"'. ---" l..l

A
scChraube
. .

r
"
.__l,.... 1L
3

el MAN

51.90490.0023
51.90020.0235
51.90020.0269

Apply for MAN

NEOPLAN
51.90490.0023

NEOPLAN
MI5X2X144

SILINDIR KAPAK SAPLAMASI

l'-\- J'

'i
"B, P! .H'.I-I,I' = --\.i:-_.-'l- _.':u 1Bl e
Lyiue r-.,,’:,- SCIINauie:

=s=aed MAN 51.90020.0270
X51.90490.0024 NEOPLAN
51.90490.0024 51.904590.0024
51.90020.0236

Apply for MAN NEOPLAN
MISX2X109

SILINDIR KAPAK SAPLAMASI
Cylinder Head Bolt
Zylinderkopfschraube
A3669900301
A3229900505
A3529904201
Apply for MERCEDES
MI2ZXT1.75 X111

: Ordnterimizin hic biri otjinal dediidir. Numaralar ve bilgiler referans amagh yazimistir.

Not
@ Note

: Our products are not orfginal products. Numbers and Information are given Just for reference.
Hinwelis @ Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.

i

BETTO No | B20224

BETTO No | B20225

T

BETTO No | B20226

N

BETTO No | B20311

\

www.befto.com.tr

PEENLE Sk

A‘! 1"&

=

ﬁﬁ's

’Ed
™3 %
s

SiLiNDiR KAPAK CIVATASI

C :-]. ¥ 1. -~ l‘. MWW

,-'_"::.-"]l.:"‘l:"."';_-"'"'“_,‘_ Fsch r".';'};_"

pacig) A9060160769
A9060160669

Aﬂﬂr‘y for MERCEDES

MI6 X2 X 149

SILINDIR KAPAK CIVATASI

EEIECE g el A4579900201

A4579900501
Apply for MERCEDES
Mi5 X2 X210
SAFT CIVATAS
Wellenbolzen

sacen A MERCEDES-BENZ A0079901401 - N308676014010
MAN 06017344415 - 06017346415 - 87011140403
87011250412 - A0021499099 - A8026140506
N1011012159 - N1011056182 - 06019022411
RENAULT TRUCKS 5003101162

Apply for MERCEDES BENZ - MAN - RENAULT TRUCKS

MI4 X 1.5X 50

SAFT CIVATASI SOMUNU

1 El E
» = = — b "
WallamnoliFan NILISS
o el e b I8 Wl lil-N il | | 9 E,

el NOOO000005461

Apply for

MERCEDES BENZ - MAN - RENAULT TRUCKS
MI4 X 1.5

SAFT CIVATAS] SOMUNLU

Ir'-. -"' |- 'r I

AT 11 FAars AT kA il o
~':"E.:=':.-.Z.'1l.'.-}'_-|r' S8 1THE MU

GG} MERCEDES-BENZ A0079901401 - N308676014010
Somun:N0O00000005461

MAN 06017344415 - 06017346415 - 87011140403
87011250412 - A0021499099 - AB026140506
N1011012159 - N1011056182 - 06019022411
RENAULT TRUCKS 5003101162 - NOOO0O00005461

Mi4 X 1.5X 50 MI4X1.5

Apply for

Not : Uriinlerimizin hig biri orjinal degildir. Numaralar ve bilgiler referans amach yaziimigtir.
Note . Our products are not original products. Numbers and information are given fust for reference.

s Hinweis : Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referent.

Betlo

BETTO No | B20312

BETTO No | B20310

BETTO No | B20207

BETTO No | B20284




T
- i r - o 3
- o E— .
. L] 1 . N i
. 4 ) L= " 'hl
= % !! 1 % 5 1
. | B ! | 1
| LB i | | - AR SN
L - f B L r
v ¥ r f
y - r I L F
B N r . o
L e -\'_ \ e -_P'# ‘w
e g = =L
' e T LF i wll
1 P = =
- i - ——

SAFT 1CIVATASI BETTO No | B20230 ENJEKTOR POMPA CIVATASI BETTO No | B20238

; 5 L a |
Injiector Pump Bolt
¥ ]
\ATAllarm b [ E—
Wellenbolzen s

Schraube der Einspritzpumpe
el 2966989

EEcel MERCEDES A5419900301
Hitachi parts

ZW310, ZW310-A, ZW310-HCMF
Apply for MERCEDES - HITACHI

MIOX1,5X5010.9

Apply for SCANIA

MI2 X 1.75 X 50

SAFT CIVATAS] BETH5 o | B3050 ENJEKTOR CATAL CIVATASI BETTO No | B20276

Shaft Bolt Z'-'E.s-]-:‘_-;aji‘—t&"', aube
'~.-‘-;’a‘.=f enbolzen

PPmgYs RENAULT 7421344774
1757877 - 1117597 - 1328597 - 1344182 VOLVO 21344774 - 8131597

Apply for RENAULT - VOLVO
Apply for SCANIA

MIO X 1,5 X 50
MI2 X 1.75 X 50

SAFT CIVATASI CIVATA BETTO No | B20313

BETTO No | B20319 Bolt
Shaft Bolt Bolzer
Wellenbolzen FITEEENTE AD059906104
e A0079901301 N000912014021
N000912014091
Apply for MERCEDES

MI2X1.25X 42 Apply for MERCEDES

Mi2ZXT1,5X25

SAFT CIVATASI SOMUNU BETTO No | B20320

- h
=jQ 'r: L -'-'\.:l-L

W 'f.la*':'..‘?f:..-"‘m*!art'-.'f:-' MuUlaa r
B i M ' ' i i
‘:I?a 1111 11 f-\il.J 101

ec=ld N308673012003 /F T Jj Li'
£ 3 4... @ y Reference No 038103153 Q 038103153 T
u“ | 038103153 D
MI12X1.2510 dedlal CADDY 2004 - 2015 POLO 2002 >> 2015
GOLF 2003 >> 2008 TRANSPORTER T5 2003 >> 2016

GOLF 2008 >> 2012 JETTA
o - GOLF 2012 >> 2020
BASAMAK GOVDE CIVATAS] 1,4 TDI 1,9 TDI

AMF BJB, BLS,BXE,AXB,AXC,BRR,BRS
Step Body Bolt 1,6 TDI 2.0 DI
: CAYA, CAYB, CAYC, CAYE, CLNA, BMM, BKD,BMM,AZV

SLLUT fr ni

A0009849529

Apply for HERCEDES
AXOR

M8XI1.25X18

A= e g

q"
‘ﬁ' ‘% z ‘. e el
Not : Ordnierimizin hig birl orfinal dedildir. Numaralar ve bilgiler referans amagii yaziirmstir. ANk i i . - ‘ ot Not : Uriinlerimizin hig biri orjinal degildir. Numaralar ve bilgiler referans amach yazilmigtir.
@ Note  : Qur products are not orfginal products. Numbers and Information are glven Just for reference. wWww.Detto.com.iti Rl /] % Bl SR et

Hinwels @ Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.

Note . Our products are not original products. Numbers and information are given just for reference.
& Hinweis : Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.



Betlo

Betlo

TEKERLEK PIMI - DORSE BIJON TRAILER

':LF mil B r"\.. -..r1:_:|!|1.1 |'|'i'i'.-...

W Tk e e
B i YNalaFlalalaloA R L. Y e laalllind=l A iValart=lalm =] &
'l'-.x]’-\.j].i OlZen-AlMNnander-kaduimuiier-Arfrii =1 QLY L= |

el 1303112010
1.303.1120.10

Apply for SAF

M22X1,5X78

TEKERLEK PIMI - DORSE BIJON TRAILER

Wheel Pin Trailer Lug Nut Trailer

o
Dardbnlrean=-Anhancar-Rarimiuttar- Anhanocor
1‘*...1'.1':.1'..-|.|{'.'.’!'.' .-"-.-":l.'l.'-l."_-_;"-',"u'|"||:."-_.="-I.-L1.'[-.r :'ﬂ' r'..-:.!.!'!_-_:.‘..'.'.

= 1303111811
1.303.1118.11

Apply for SAF

M22X 1,5 X 68

KALIPER CIVATASI

=10laT=1 0 *Tal
I"\_-'i.-r :.-"\'-'-'- LML

= THpN T The P p——
gremssattelbolzen

Reference No

&
oy
L
L

]

Apply for

M16X1,5X70 10,9 IMBUS

KALIPER CIVATASI

Caliper Bolf

E_ remssa :' .L-! _.."._."..{_f. i

Reference No

Apply for

M16X1,5X75 10,9 IMBUS

KALIPER CIVATASI

Caliper Bolt

L - - .
emssatielinoizen

Reference No

imw |

LR

==

T

i "

=

ot

-

B ah

o

1] L
'_i

= .
. pas 3

Apply for

M16X1,5X80 10.9 IMBUS

* Uridnierimizin hig biri orjinal dedildir. Numaralar ve bilgiler referans amagh yazilmistir.
: Our products are not original products. Numbers and information are given just for reference.

Not
Note
Hinweis : Unsere Produkte sind keine Originaiprodukte. Nummenrn und Informationen dienen nur als referenz.

BETTO No | B20250

BETTO No | B20251

BETTO No | B20252

PR TR T s '
www.petto.com.il

v WP

fm 2

;,-;,,4_----

L"“* vil)

;: v
"l

%gﬁk“'ﬁi' -

alipel
Iremss lbolzen
Reference No
M16X1,5X85 10,9 IMBUS

KALiPER CIVATASI

yer Bolt
E."&:E‘Hrjf.;‘:- n-“;-’ 1OlZen
M16X1,5X100 10,9 IMBUS

KALIPER CIVATASI

Caliper Bolt
Bremssattelbolzen
Reference No
Apply for
M16X1,5X120 10,9 IMBUS

KALIPER CIVATASI

L _f.\__. J‘ |

Reference No

MI16X1,5X125 10,9 IMBUS

KALIPER CIVATASI

aliper Boll

|}- .'!.i-.__".'_".l

Reference No

= .
LA '_
=8|
I...I
- i —
=
. i
L '-
LY
L .i
=
b ¥

Apply for

M16X1,5X140 10,9 IMBUS

: Uriinferimizin hig biri orfinal dediidir. Numaralar ve bilgiler referans amagh yazilmistir.
: Our products are not original products. Numbers and information are given just for reference.

b 'r\' = Note

r‘tl a

hn ﬁ "? “ . Hinwels : Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.
7 %

BETTO No | B20253

BETTO No | B20254

BETTO No | B20255

BETTO No | B20256

BETTO No | B20257

www.betfo.com.tr



Betlo

Betlo

KALIPER CIVATASI

Rramecattaelbnlran
Y e Il LR TR E TR
Reference No

Apply for

M16X1,5X150 10,9 IMBUS

KALIPER CIVATASI

. : > Y oo | i'
i ~ 1=l Tl
'\-,_-l_:lll_._..lll_.u L2t

N i e o e o - s
i.l-\.--'_:h :I_;‘.‘,. ."l

Apply for

M18X1,5X80 10,9 IMBUS

KALIPER CIVATASI

i - - I}
£ IHIREaY i
OIS DN

Bremssattelbolze
MI18X1,5X90 10,9 IMBUS

KALIPER CIVATASI

[

Rramceceateallbalson
lSlillaadiiciiyuLic

Reference No

-

I

-
I

Apply for

M18X1,5X120 10,9 IMBUS

Not : Uriinferimizin hig biri arfinal degildir. Numaralar ve bilgiler referans amagh yazilmustir.
Note :Our products are not original products. Numbers and information are given just for reference.

Hinwelis : Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.

BETTO No | B20258

BETTO No | B20259

BETTO No | B20260

BETTO No | B20261

www.Detto.com.tr

#%"’5 e

i! -I."i-

e

KALIPER CIVATASI

=10lat=1 i
S Bl 1 W B s | | - s 0K

R =T . -‘Hl.-.:n..-.

-
. -

S- ) 1% e - [ - I ! 1 F -
i cililaaciLiLeEis e cii

Apply for

M20X1,5X100 10,9 IMBUS

KALIPER CIVATASI

M20X1,5X90 10,9 IMBUS

KALIPER CIVATASI

Reference No

Apply for

M20X1,5X150 10,9 IMBUS

KALIPER CIVATASI

Reference No

Apply for

M16X40 12,9

Not : Oriinferimizin hig birl orfinal dedildir. Numaralar ve bilgiler referans amagh yazimigtir,
Note : Our products are not orlginal products. Numbers and infarmation are given fust for reference.

Ea Hinweis : Unsere Produkte sind kelme Originalpredukte. Nummern und Informationen dienen nur als referenz.

BETTO No | B20262

BETTO No | B20263

BETTO No | B20264

BETTO No | B20265

www.belto.com.Ir @




Betlo

Betlo

KALIPER CIVATAS| BETTO No | B20266

Reference No

Apply for

M16X1,5X80 12,9

KALIPER CIVATASI BETTO No | B20267

0 srmeestetalbhalvan
2I1D0OILE

Reference No

& —
D Y
—-— 10|
al
. i
g
—
X _1' i |
Lr g
] T L
o]
-
0
- L .
.} ) =
- I'r.
r
ey

Apply for

Mi14X40

KALIPER CIVATAS] BETTO No | B20268

M8X1,25X16 10,9 IMBUS INCE KAFA - THIN HEAD

KALIPER CIVATAS BETTO No | B20269

gremssatielbolzen
Reference No

Apply for

M16X1,5X90 10.9 IMBUS

KALIPER CIVATASI BETTO No | B20270

Reference No

Apply for

M18X1,5X150 10,9 IMBUS

Not : Uridinferimizin hig biri arjinal degildir. Numaralar ve bilgiler referans amagh yaziimistir.
Note  :Our products are not original products. Numbers and information are given just for reference. www.betto.com.tr
Hinweis : Unsere Produkte sind keine Originalprodukte. Nummern und Informationen dienen nur als referenz.

-:.:"’3’”'
-i."f- EI

KALIPER CIVATASI BETTO No | B20271

‘-.n|

Apply for

Bremssattelbolzen
Reference No

MI10X1X40 12,9 EX.LOBE

KALIPER CIVATASI BETTO No | B20272

Reference No

Apply for

—— .
- s -
= .

.I 1
- i

iy

_1 .-"
i

{1E] =3 =
. .

] b

i L

:

L1 S
= Aol

=

=k i

N
T Ty

-

M16X1,5X40 10,9 IMBUS

TU RBOSARJ YAG CONTASI BETTO No | B20122

urbc D1l C

"-}_':.' ':'.‘.r-::—ft.-';-:':':i-_'s:' (j3::iff?,:.Ji?=:'; -i”_“.-"-k:':'s'r,:_!:‘;g_.

Reference No 03L 145757 H
03L145757B

Apply for CADDY 2010 >> 2015 GOLF 6
PASSAT 2010 >> 2015 JETTA
1,6 TDI

CAYC, CAYB, CAYD

TERMOSTAT KAPAK CONTASI BETTO No | B20123

. P
/er gdskKei

=

— n— f 3
BIT T IR 1 b o ;.. =leal=Tad 'dell=
1 { ¥ [ ! y Sl e

._...'I .\,...ll._||._-\__I x\".\l Lwqd IISLOLUELCE LD

P 96MM 8587 AD - 96MM 8587 AC
1216653 - 1007755 - 1058033

Apply fi
FOCUS FIESTA

C-MAX FUSION

TURBOSARJ YAG CONTASI BETTO No | B20190

urbolader Olleitung Dichtung

R 03L145 757 G
04B 145 757

PASSAT 2015>> 2022 GOLF 2012 >> 2019
POLO 2015 »> 2022

Not : Urdinlerimizin hig biri orfinal deditdir. Numaralar ve bilgfler referans amach yazilmigtir.
% Note :Ourproducts are not otiginal products. Numbers and information are given just for reference. www.betto.com.tr @
i Hinwels : Unsere Produkte sind kelme Originaliprodukte. Nummern und Informationen dienen nur als referenz.



Betlo

;;:
/

NS ]

|

IISSSSSRHINSSSHTHTNSSSITITIISSSSH

M

M

—
_—

T

-

SN

S (TSNS ]

111

INFOCERT

CERTIFICATE

BETTO ZEBPA ARAC VE EKiPMAN YEDEK PARCALARI
SAMNAYI TICARET LIMITED SIRKETI

BEARBAROS MAH. 5301 SK.MO: 32 A

BORNCVA / IZWIR / TURKIYE
The: Cretifcats # Bu S=rifka
Towe il tesm-mepireead compay oorord 1ohe 150 A0 - 3015 Boncnedd G4 1 DRSOy § oL
tex thc folowing stops given oy NFOCEST nierationd car Foahios ond b sev om & ¥aboneda oo

gamaty ity 1500 P00 WIS slsr el oS @5 Bman n kg Lesing CROGTTEL antmnin kg
LR chisky oy serifeneecn v el Tamed e doechicho w2 el

150 9001:c015

Quality Managemant System
Soope of Cerlitcakan ¢ Belgelendime Fagp:am

MACTORIY ARG TASITLARE [N CIE ER PAREA YT ANS LRARLARIN |EMI'I|I|1'II KUTUSS, JANT

< loF s 5 sTEMLEE , RoniiEGE  RADFATER, FETaF , BEARIYAL, BIRE K van RUTUSW,

WOT , ROTRAR , saTh WEL) |TM‘|T|‘-: L ITFAIVE ARGCLER, V. ISl BLaNLER EAHIL INSALRT] BATIR YL
an-aE FasUvETLER]

et oot Spormben e | Wl o i E22 10708
Liore o lzavagly Tarkl CA.Z0v 2024

1 a5
bl e Dierie A e bl T Tok Gr.2m 2

r:%éi;ﬁf“’

(L)mmans

o e vcaows. e+ Petledy il e PR T

TPt gdooumat 13 o id o kong 08 Ihs comeam comaies @ e ndes o cadizmen RECAT R Sorroee

P SR e el oF enlict e o e S cuimet con e e rec] e oS ooy Ve
Lo rwalig Famavy o TR ZCEAT o L ppedencdmnes bscl oo veduin, sivion popetichs Dudosir g
SEwRm b S B G siewies ol e ot

Sazniwe with

|

SIS ST

k

{l

1..

==l

- Xl

B ambcanner

INFOE R

CERTIFICATE

BETTO ZEBPA ARAG VE EKIPMAN YEDEK PARCALARI
SANAYI TICARET LIMITED SiRKETI

BARBARDS MAH, 5300 SK. NO:32 A
BORNOVA Jf IZWIR S TUORKIVE

The Cerlticois / Bu Jetika

Fhaer i inangrd Gred comoa oocord o 150 43000 sorado ond (e conyere's @aques o he

e s ghan by [ F2OCERT ffssnofond cemication ond lest amdoes o Yoo i ol ops e
T, P ASO0] oo o e e T wnin Te Col ecicte ki vaosnam win RO TRT

id skErwons it of jas| Fameeb=d b andon "-Ell_;FII

150 4s00]

Cuality Monagemant Sysfem

Secpe of Certificuiian ¢ Beloslencrme Fapsom

AMBARLL A 5A TASITIAR: I PR PANCA VE AESECUARLARIN |FREM, VIies Kyiustd, 16nT,
s(EPARE RGN SETEMLER', AMORTSS S, maovaiDe | Ba2oz, JEERivaN, MArEshins £l

ST , ROTEFAS] , ROTILVE.] (TRAETAR , TRART A%hflAR VB 014 OLANLAR DAHIL IMALSTIEAT15! ¥E
AF:EE Fas TR

A i tlrer Ter Ny ko anoe BiiifvaE
(Bt Na] ."\l'uuqhh: oL 10, 302
03,30 3035

o Do Goeerliby oot

-

~

_'}j-;wﬁ:_:f =
I\-_._-

O3

ot VW oo A A lpedm e by

L T—
This documen! i vedid op og ae tha corpomy comdss with the nil=s s certfir rtion TRTFERT Frores
frewion god b oo abvabkory of he doomonlcar Bo esomire ™ wamini e etoss 8
he ket Wincrm RFCCEST ' Dk oo borakrno g soeee gecmba Belgene oo
dastni b bl Bl ion e ilocencomi Sheinee veeleoebii

Easiimeet il

S
=

| §
|

1'1.

=l

-

% |I|||H|i

¥
o
s i

|
1

THHTISSSS i

"

= il

s
-,
S
iy

= llll

Bt i 8

B

|

il

v

B tambcanner;

SIS

i
|.,
"

1001 SRS

il

"1“‘- o

|

Il

-~

S

HHNINSSSRI:

™,
L
-

il

Il

INFORZERT

CERTIFICATE

BETTO ZEBPA ARAC VE EKIPMAN YEDEK PARCALARI
SANAYI TICARET LIMITED SIRKETI

RARBARDS MAH. 5301 5K NO: 32 A
BORMNOVA / [ZMIR / TORKIYE

e Cerlifimete B e fiilo

Th= chovt meathormed corpore ocood fo he |20 14251 doadod ond ke conmury s asupes| o
Folostigacepe ghr by B SOTEIT vilen (0 ot (o alaon o fest sepyios  Vatanin auigens|
e, 157200 1AGDY clvmu s wibimaeir e o= femoren bl coeaee corppdae oo o PR
Lok aoe ik s w= ired hiss ol oo weilkme e

150 14001

Cuolilty Monogemon Syslem

Sepee of Cedifzaben S Dedopedencinme bapsam

PG TERLLL R TASTLER IGIH M En Passs VE ARAESUARLARIN (FREM . viTES muerusy, bas,
eil4SABEVEY SISTENRER], ARMOFTISHR , iusva s, E6202 , DEBRIGA , DARREEPon KuTuEw,

R, BOTRASE  RETIL VE.] [TRAETOR , TRAIVE areaLan, v, Il ©LEL LAR RAHIL) Baal aT1 SATHIVE
BA-GE FaadroTLEnd

CwoaiE vapbeSerifia Muwna BZ1ANGR
A 10, 0

e nd oVl Todihk
o 0. X025

Vedtdn L e st H - Tiarihi,

Bhit e mad i8 ok oo Boeg 03 e comoary ol sl e nds o Dealieodie PEROCIRT For nzee
wnczemnalion ol the peiod of wolidk =7 IF8 doac=ontoan £ ceomerwesbipostoonh i

[ basbiges sy BECCED I baedopde o booc Brara pckodiu e0neca gopo idie Ledoesda geal ekl
cevari ki bigi g eesniocedoomh thednde oo sl

S TSRS STTTINISSSRTITTSSSSRIITIESS

S alll

Sl

Sranieal i
B Canfcaniner
-"_..':.."
o
.-'__.-'_.-'
o

#
INFOCERT

CERTIFICATE

BETTO ZEBPA ARAC VE EKIPMAN YEDEK PARCALARI
SANAYiI TICARET LIMITED SIRKETI

BARBARDS MAH. 5301 5. ND; 32 A
BORNOWVA [ izZmiR f TORKIVE

The Conlinets ¢ B Serflus

Tpes il = MR Brse e A A b Y e Cire e e e e | R e e
[P T, ¢ e

g e by WFOCER T nwroiicny cardorrionegnd 651 isdvce nionda
B Al sRnooeT o QoD v fimae g uninhE QR30I

R S e

Cuolity Manogemant Swstem

fcope of Cedlificatizn ¢ Balgelandire Fopiom
R B LA TASTLAR [N MR PARES VE AMSCSUARLARPY [FREN, WITES SUTUSY, JAMT
chFarssiron ssiemuerl , ase iR, meOvane | PaIng  neRRivid, DlRFctivos KUmed,
RT , POTIAS] . ROTIL WL IUSETE , Brtaime ARaniai , v i ol uvg Daml) e samgi v
AN-BE FRALVETLER

BZ L1070
1 10200
0y L0L20IS

g = et e Ter Lo Manonos:
i d g et

St B | TRE BT

(L) mawm_

Cr Mo Mambon.  Belzoicsd ma e
allh i T o L C A
i the =il i . 1 1 T
| X1 | 1 =l ¥ =y i e L TR gl ] (T 8- LI B 3
i i il 1 Ieswal = |

e
s W =
7.

Sl

-
'\.'\.'l."\."

A,

=

i

R

TS

-

2

SEIINTSS

.,
-

SSSTTHITNSSSSSRITINISSS

Zaciine it
CamScanner

vw.betto.com.tr




>
a8 & 8 & B 0 B B J




